





' I Dxtine the term Xvle

m'

2. Name the two




@) Oxygen  b) Water  ¢) Nitrogen  d) Hydrogep

; pihe dianhrs i roces :
13.. What is the role of the diaphragm in the p Ss of breathmg? .

< |

@) It pumps air into the lungs b) It regulates the OXygen levels jn
€) It helps in the expansion and contraction of the chest cavity

d) It removes carbon dioxide from the body

I. Assertion-Reason lypié questions:

For the follo‘wiﬁé questions, two statements are given-on

- ¢ labelled Assertion(A)‘ :
labelled Reason( R). Select the correct answer to these qu /

estions and answer as follg
* IfbothA dnd R are true and R is the correct explanation Of A, then mark
* Ifboth A and R are true but R is not the correct eXplanation of A, then
* IFAis true, but R is false, then‘mad( (c). ;
* IfAi false, but R is true, then mark (d), .; ; e *i
1. A: The formation of urine takes place in the glomery 1S, n T e A e

fand w L( 3 Vh;,;. » _?! .:7':"' £ F & A
R: Glomenylus s the site of ulttafiltration in the kidney.

2.A: §ﬁo&m.n!y§cleS‘m'-Mda voluntary cohth =~
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Home Assignment For winter Break - (20232 )

Class X1 Subject - Chemist'y
Name of chapters

e Thermodynamics
e Chemical Equilibrium

1. Do the following mcgs.

Q1. A thermodynamic state function is a quantity
(a) used to determine heat changes
(b) whose value is independent of path

(¢) whose value depends on temperature only

2.The enthalpies of elements in their standard states are taken as zero. The enthalpy
wv l'lpo“_lld L4 = 3 : } ' £ ; =

(@ is always negative  (b) is always positive
7 (c) may be positive or negative  (d) is never negative o
Q3.The work done in case of isothermal free expansion is ’ =T




(b) enthalpy of fusion

(¢) enthalpy of vapourisation

(d) twice the enthalpy of vapourisation

Q7.If the volume of gas isre 2
(a) reduce to half (b) be doubled (€) remaln CONSEAIER

Q8.Which of the following is not correct?

(a) AG is zero for a reversible reaction

(b) AG is positive for a spontaneous reaction
(c) AG is negative for a spontaneous reaction
(d) AG is positive for a non-spontaneous reaction

~ Q9.The enthalpies of combustion of methane, gr



(a) NaOH and HCI (b) HNO; and NH,NO,

(c)HCland KCI () HNO, and NaNO,
Q16. Le Chatelier's principle is applical

() NH(OH (d) KOH
to NH4OH solution the dissociation of ammonium hyd

-

 reversible reaction

% 2NHs + Heat




WINTER HOL

CLASS. x| GEOGR

Chapter ™

DAY HOME

Qa Describe the composition of the atmosphare

Q10. What would happen if there is no 0zone in the atmosphere?

Q11 Atmosphere gets heated up indirectly by terrestrial radiation and not directly
by s nrays, Explain.

QI2. Explain about spatial distribution of insolation on (he earth's surface,

-, -'iWi,Wiﬁite'abom elements of weather and climate in detail.

h the earth-atmosphere system maintains
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